
Wk10 
 

  

 

 

B.Com. DEGREE EXAMINATION –   

JUNE, 2012. 

Third Year 

Accounting and Finance 

COST ACCOUNTING 

Time : 3 hours Maximum  marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. State the objectives of cost accounting. 

 AhUPÂø» PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

2. What is meant by cost unit? Give two examples. 

 AhUPÂø» A»S GßÓõÀ GßÚ? Cµsk 
Euõµn[PÒ u¸P.  

3. Distinguish between joint products, main product 

and by-products. 

 Tmk ö£õ¸mPÒ, •UQ¯¨ ö£õ¸Ò ©ØÖ® \õº¦ 
ö£õ¸mPøÍ ÷ÁÖ£kzvU PõmkP. 
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4. The following transactions took place in respect of 

a material item. 

Date Receipts Rate Issues (in units) 

  Rs.  

2-1-10 200 units 2.00 – 

10-1-10 300 units 2.40 – 

15-1-10 – – 250 

18-1-10 250 2.60 – 

20-1-10 – – 200 

 Prepare stores ledger accounting using weighted 

average price method. 

 ‰»¨ö£õ¸Ò JßÔß öuõhº£õÚ ÂÁµ[PÒ 
¤ßÁ¸©õÖ  

÷uv ö£ØÓøÁ  
(A»SPÎÀ) 

Âø» AÎzuøÁ 
(A»SPÎÀ) 

  ¹.  

2-1-10 200  2.00 – 

10-1-10 300  2.40 – 

15-1-10 – – 250 

18-1-10 250 2.60 – 

20-1-10 – – 200 

 {øÓ°mh Tmka \µõ\› Âø»•øÓ°À ÷£÷µmkU 
PnUQøÚ u¯õº ö\´P. 

5. A factory requires 1500 units of an item per 

month, each costing Rs. 27. The cost per order is 

Rs. 150 and the inventory carrying charges work 

out to 20 per cent of the average inventory. Find 

out the economic order quantity and the number of 

orders per year. 
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 J¸ öuõÈØ\õø»US 1500 A»SPÒ ¹. 27 Ãu® J¸ 

©õuzvØS ÷uøÁ¨£kQÓx. J¸ EzuµÂØPõÚ ö\»Ä 

¹. 150. £µõ©›¨¦ ö\»Ä ö£õ¸Îß AhUP Âø»°À 

20%. ]UPÚ öPõÒ•uÀ AÍÄ ©ØÖ® J¸ Á¸hzvØS 

GÆÁÍÄ BønPÒ Gß£øu²® PnUQkP. 

PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. Draw a statement of cost from the following 

particulars. Also calculate cost per unit. 

Particulars Rs. 

Opening stock:  

Materials 2,00,000 

Working progress 60,000 

Finished goods 5,000 

Closing stock :  

Materials 1,80,000 

Working progress 50,000 

Finished goods 15,000 

Material purchased 5,00,000 

Direct wages 1,50,000 

Manufacturing expenses 1,00,000 

Sales 8,00,000 

Selling expenses 20,000 

  No of units produced –10,000 units. 
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 ¤ßÁ¸® ÂÁµ[PÎÀ C¸¢x AhUPÂø»¨£mi¯À 
u¯õº ö\´x Kº A»Qß AhUPÂø»ø¯ PnUQkP. 

ÂÁµ[PÒ ¹. 

Bµ®£ C¸¨¦ :   

‰»¨ö£õ¸mPÒ 2,00,000 

•iÄÓõ \µUQ¸¨¦ 60,000 

•iÄßÓ \µUQ¸¨¦ 5,000 

CÖv C¸¨¦ :  

‰»¨ö£õ¸mPÒ 1,80,000 

•iÄÓõ \µUQ¸¨¦ 50,000 

•iÄØÓ \µUQ¸¨¦ 15,000 

‰»¨ö£õ¸mPÒ Áõ[Q¯x 5,00,000 

÷|µi T¼ 1,50,000 

EØ£zv ö\»ÄPÒ 1,00,000 

ÂØ£øÚ 8,00,000 

ÂØ£øÚ ö\»ÄPÒ 20,000 

 EØ£zv ö\´¯¨£mh A»SPÒ –10,000 A»SPÒ. 

7. Standard time –  20 hours 

 Rate per hour – Re. 1 plus D.A. of 30 paise 

  

    per hour worked 

 Actual time   

taken   – 15 hours 

 Calculate the earnings under  

 (a) Time rate system 

 (b) Piece rate system 

 (c) Halsey plan 

 (d) Rowan plan. 
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 {ºn°UP¨£mh Põ»® – 20 ©o ÷|µ® 

 ©o JßÔØS T¼ –¹. 1 ©ØÖ® AP Âø»¨£i 

    GkzxUöPõsh ÷|µzvØS   

    ©oUS 30 ø£\õ Ãu®  

 GkzxUöPõsh Põ»® 15 ©o ÷|µ® 

 ¤ßÁ¸® •øÓPÎÀ ö©õzu T¼ PnUQkP : 

 (A) ©o ÷|µ ÂQu® 

 (B) A»S Ãu ÂQu® 

 (C) íõÀ] vmh® 

 (D) ÷µõÁß vmh®. 

8. A company has four departments. The following 

are the expenses for a period of 3 months 
Particulars Rs. Particulars Rs. 

Rent 1,000 Light 100 

Repairs 600 Depreciation 450 

Supervision 1,500 Plant insurance 500 

Employees insurance 150 Power 900 

  The following data are also available : 

Particulars A B C D 

Area (sq. ft) 75 55 45 25 

Total wages in Rs. 4,000 3,000 2,000 1,000 

No of workers 12 8 6 4 

Value of plant (in Rs.) 12,000 9,000 6,000 3,000 

 Write a statement showing the apportionment of 

cost to various departments. 
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 J¸ {Ö©® 4 xøÓPøÍ öPõskÒÍx. 3 ©õu 
Põ»zvØPõÚ ö\»ÄPÒ RÌÁ¸©õÖ 

Â£µ® ¹. Â£µ® ¹. 

ÁõhøP 1,000 ÂÍUS JÎ 100 

ö\¨£ÛkuÀ 600 ÷u´©õÚ® 450 

÷©Ø£õºøÁ  1,500 G¢vµU Põ¨¥k 500 

öuõÈ»õÍº Põ¨¥k  150 Âø\ 900 

 RÌUPsh uPÁÀPøÍ²® PnUQÀ öPõÒP. 

ÂÁµ[PÒ A B C D 

£µ¨£ÍÄ (\xµ Ai) 75 55 45 25 

ö©õzuU T¼ ¹. 4,000 3,000 2,000 1,000 

öuõÈ»õÍº GsoUøP 12 8 6 4 

G¢vµ ©v¨¦ (¹.) 12,000 9,000 6,000 3,000 

 öÁÆ÷ÁÖ xøÓPÐUPõÚ ö\»Ä¨ £Qº¢uÎ¨¦ 

£mi¯ø» ÁøµP. 

9. The sales turnover and profit during the two years 

were as follows : 

Year Sales (Rs) Profit (Rs) 

2009 1,40,000 15,000 

2010 1,60,000 20,000 
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 Calculate  

 (a) P/V ratio 

 (b) BEP 

 (c) Sales required to earn profit of Rs. 40,000 

 (d) Fixed expenses  

 (e) Profit when sales are Rs. 1,20,000 

 Cµsk BskPÐUPõÚ ÂØ£øÚ AÍÄ ©ØÖ® 

C»õ£® ¤ßÁ¸©õÖ 

Á¸h® ÂØ£øÚ C»õ£®  

¹. 

2009 1,40,000 15,000 

2010 1,60,000 20,000 

 PnUQkP. 

 (A) C»õ£ £¸©ß ÂQu® 

 (B) C»õ£ |mh ©ØÓ ¦ÒÎ 

 (C) ¹. 40,000 C»õ£® Dmh ÷uøÁ¯õÚ ÂØ£øÚ 

AÍÄ 

 (D) {ø»a ö\»ÄPÒ  

 (E) ÂØ£øÚ ¹. 1,20,000 UPõÚ C»õ£®. 
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10. From the following figures, prepare a 

reconciliation statement : 

 Rs. 

Net loss as per costing records 1,72,400 

Works overheads under recovered 3,120 

Administrative overheads recovered in excess 1,700 

Depreciation charged in financial records 11,200 

Deprecation charged in costing  12,500 

Interest received but not included in costing 8,000 

Obsolescence loss charged in financial records 5,700 

Income tax provided in financial books 40,300 

Bank interest credited 750 

Stores adjustments (credit) 475 

Depreciation of stock charged in financial books 6,750 

  ¤ßÁ¸® ÂÁµ[PÎÀ C¸¢x \›UPmhÀ £mi¯À 

JßøÓ u¯õº ö\´P. 

 Rs. 

AhUP Âø» PnUQ¯À £i {Pµ |mh® 1,72,400 

Bø» ÷©Øö\»ÄPÒ SøÓ¢x GÊu¨£mhx 3,120 

{ºÁõP ö\»ÄPÒ AvP® GÊu¨£mhx 1,700 

{v{ø» ö\»ÄPÒ HkPÎÀ ÷u´©õÚ® 11,200 

AhUPÂø»U PnUQ¯¼À ÷u´©õÚ® 12,500 

ö£ØÓ Ámi AhUPÂø» PnUS HkPÎÀ ÷\ºUP¨£hõuøÁ 8,000 

ÁÇUöuõÈu»õÀ HØ£mh |mh®{v{ø» HkPÎÀ 5,700 

Á¸©õÚ Á› {v{ø» HkPÎÀ 40,300 

Á[Q Ámi ÁµÄ øÁUP¨£mhx 750 

£shP \›PmhÀPÒ (ÁµÄ) 475 

\µUQ¸¨¤ß «u©õÚ ÷u´©õÚ® {v{ø» HkPÎÀ 6,750 
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11. In a manufacture of a product, 1000 kgs of raw 

materials at Rs. 8 per kg were supplied to process 

X. Other expenses of this process were as follows: 

Labour Rs. 2,000 production expenses Rs. 1,000 

normal loss has been estimated at10% which could 

be sold at Rs. 2 per kg. The actual output in this 

process was 880 kgs. 

 Prepare process account. 

 £i{ø» X  À J¸ ö£õ¸Ò EØ£zv ö\´ÁuØS  
1000 Q÷»õ ‰»¨ö£õ¸mPÒ J¸ Q÷»õ ¹. 8 Ãu® 
AÎUP¨£mhx. Cuµ ö\»ÄPÒ •øÓ÷¯ T¼  
¹. 2,000 EØ£zv ö\»ÄPÒ ¹. 1,000 \õuõµn |mh® 
10 \uÃu® (Q÷»õ JßÖ ¹. 2 US ÂØP¨£mhx.) 
£i{ø» X  À öÁÎ ö\À» ÷Ási¯ •ØÖ¨ö£ØÓ 
ö£õ¸Ò 880 Q÷»õ. 

 £i{ø» X  PnUøP u¯õº ö\´P. 

12. With the help of the following information, you are 

required to calculate : 

 (a) margin of safety 

 (b) sales  

 (c) variable cost. 

 Rs. 

Fixed costs 12,000 

Profit 1,000 

Break even sales 60,000 
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 RÌUPsh uPÁÀPÎ¼¸¢x EuÂ öPõsk }Âº 
PnUQh ÷Ási¯x 

 (A) £õxPõ¨¦ £Sv 

 (B) ÂØ£øÚ 

 (C) ©õÖ® ö\»ÄPÒ 

 ¹. 

{ø»a ö\»ÄPÒ 12,000 

C»õ£® 1,000 

C»õ£ |mh©ØÓ ¦ÒÎ ÂØ£øÚ 60,000 

 

  

———————— 


